13. Adsorption of a ga.é on a surface follows Freundlich

adsorption isotherm. Plot of logi versus log p gives a
m

straight line with slope equal to 0.5, then :

( % is the mass of the gas adsorbed per gram of adsorbent)
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(a) Adsorption is independent of pressure.
(b) Adsorption is proportional to the pressure.
(c) Adsorption is proportional to the square root of pressure.
(d) Adsorption is proportional to the square of pressure.

Ans. (c)
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According to Freundlich adsorption isotherm

logi =logk +-l—logp
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